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:ference 01. LT ™ Ot

abs( ) &< Zl2ts 78

SlHI #include <math.h>

g+ int abs(int x);
int ix = -4, iy;
AECIR iy = abs( ix );

printf_s( "The absolute value of %d is %dWn", ix, iy);

Al The absolute value of =4 is 4
g4y FOHE H xo Higts 78

i
ot
0

log( ), log10( ) &= : 213t

SHI #include <math.h>

double log(double x):

SIA Q&
e double log10(double Xx);
double x = 9000.0;
double y;
= y = log( x );
AL printf( "log( %.2f ) = %fWn", x, y );
y = log10( x );
printf( "log10( %.2f ) = %fWn", x, v );
e log( 9000.00 ) = 9.104980
log10( 9000.00 ) = 3.954243
8t 0 ez 0(log,z)ot A4220(log,z) #S 78




sart( ) &= : ME2S P&

I #include <math.h>

g+ double sart(double x):

double question = 45.35, answer;
AKX answer = sart( question );
printf( "The square root of %.2f is %.2fWn", question, answer );

Al The square root of 45.35 is 6.73
B8y Hz22(Vr)2 P8

pow( ) & : HS2(2V)E &

lHIm #include <math.h>

3

o

g double pow(double x, double y);

{0

A
T

double x = 2.0, y = 3.0, z
AZ0IHI z =pow( x, y )
printf( "%.1f to the power of %.1f is %.1f%n", X, v, z )s

AdA)} 2.0 to the power of 3.0 is 8.0
gady xo y&2 &

acos( ), asin( ), atan( ) &< : 03 2 A

o
=}
W
>
o
=
W
m
=
im
i
4

Sl I #include <math.h>

double acos(double x);

g4y double asin(double y);
double atan(double z);
g4y 0t TAIQIDF O3 AIQL, Ol3 EHRIEQ| gtE &




fabs( )

alme #include <math.h>
e double fabs(double x);
gaey FOE Ao Ol OISt ZUigie &

ceil( ), floor( ) &2 :

ASE 0I5t 2t - 22

ofl Ci It

#include <math.h>

2

{0

og!

INE=VDS|

oo

double ceil(double x);
double floor(double x);

double y;

y = floor( 2.8 );

printf( "The floor of 2.8 is %fWn", v );
y = floor( -2.8 );

printf( "The floor of —2.8 is %fWn", y );
y = ceil( 2.8 );

printf( "The ceil of 2.8 is %fWn", y )

y = ceil( -2.8 );

printf( "The ceil of -2.8 is %fWn", vy );

The floor of 2.8 is 2.000000
The floor of —2.8 is —3.000000
The ceil of 2.8 is 3.000000
The ceil of 2.8 is =2.000000

ceill &= x20 HA &2 249 F+E 0ot floor
b

[E=jrumy
X @2 zlte 8+ 78

29} B2 floor( )



sin( ), cos( ), tan( ) &< : sine, cosine, tanget S F&

I #include <math.h>

double sin(double x);
I~ double cos(double x);
double tan(double x);

oo

double pi = 3.1415926535;
double X, vy;
x=pi/2
AEWH y =sin( x );
printf( "sin( %f ) = %fWn", x, y )
y = cos( x )s
printf( "cos( %f ) = %fwn", x, y )

sin( 1.570796 ) = 1.000000

AlSHA
da2d cos( 1.570796 ) = 0.000000
BaMY AFOI, DAFQI EHMIEQ| Zt2 pE

A 1 LEA BEAN

A
B L 2o

rand( ), srand( )

ok

#include <math.h>
#include <stdlib.h>

int rand(void);
void srand(unsigned int seed);

#include <stdio.h>
#include <time.h>
#include <stdlib.h>
int main( void )

{

int i;

// Seed the random-number generator with current time
ARZ0IA srand( (unsigned)time(NULL) ); // system time2 seed=2
// Display 10 numbers.
for(i=0: 1< 10i++)
printf( " %6d¥Wn", rand() ); // 0 to RAND_MAX(32767) // 1¢
printf("wn");

// Usually, you will want to generate a number in a specific range,
// such as 0 to 100, like this:
{



int RANGE_MIN = 0;
int RANGE_MAX = 100;
for (i=0. i<10: i++)

{
int rand100 = (((double) rand() /
(double) RAND_MAX) * RANGE_MAX + RANGE_MIN);
printf( " %6dWn", rand100); // 2
}
}

}

AlSH A1) Als A H(28)
24052 49
20577 90

2235 91
29883 16
26046 21
22303 16
19311 91

5143 68

3208 30

8804 31

L

ool
S

rand &%= 00lA RAND_MAX(32767) XIS =5 MG, srand

Lt2O| seed HE()E XA
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1o

I strepy( ) &% : 24

dm #include <string.h>

g4+ char #*strcpy(char *strl, const char *str2);
a4y SXE str2E 2K strilll S AHE
I strcat( ) &% : 2XES o2&

IHI #include <string.h>

e char =strcat(char *str1, const char *str2);
char string[80];
strepy( string, "Hello world from " );
strcat( string, "strcpy " ):
AL O ( string. 'strcpy ")
strcat( string, "and " );
strcat( string, "strcat!" ):
printf( "String = %s¥Wn", string );
AMA String = Hello world from strcpy and strcat!
g4y 2L str1Q 20 2L str2g HZ &
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ok

Agel 20l +

HO
oo

AL e
- -

strlen( )

I #include <string.h>

g3 size_t strlen(const char *str);
g+4Yy SXE stro] 2018 byte =2 P&

MNES HluotH oild gts et

Ho
o

stremp( ) &= :

s #include <string.h>

g+ int strcmp(const char *str1, const char *str2);
#include <string.h>
#include <stdio.h>
#include <stdlib.h>
char string1[] = "The quick brown dog jumps over the lazy fox";
char string2[] = "The QUICK brown dog jumps over the lazy fox";
int main( void )
{
char tmp[15];
int result;
MNZWH printf( "Compare strings:#Wn  %sWn  %sWn¥Wn'", stringl, string2 );
result = strcemp( string1, string2 );
if( result > 0 )
strepy( tmp, "greater than" );
else if( result < 0 )
strepy( tmp, "less than" );
else
strepy( tmp, "equal to" );
printf( " strcmp:  String 1 is %s string 2¥n", tmp );
}

Compare strings:
A The quick brown dog jumps over the lazy fox
= The QUICK brown dog jumps over the lazy fox
strcmp:  String 1 is greater than string 2

1A O S NS 2XE stridt str2E HIWE
=S (str10] 3B A str2df M, 2OH 0 gHah




strehr( ) &< : 2XUS0M XIEE 2Xt2 0KXIe AKX Bret

I #include <string.h>

(]

t2 8 char #strchr(const char #string, int c);

#include <string.h>
#include <stdio.h>
int ch =",
char string[] = "The quick brown dog jumps over the lazy fox";
char fmti[] = " 1 2 3 4 5"
char fmt2[] = "12345678901234567890123456789012345678901234567890";
int main( void )
{
char *pdest;
int result;

printf( "String to be searched:#n %sWn'", string );
printf( " %sWn %sWnWn", fmtl, fmt2 );
printf( "Search char:  %cWn", ch );

ASWH // Search forward.
pdest = strchr( string, ch );
result = (int)(pdest - string + 1);
if ( pdest |= NULL )
printf( "Result: ~ first %c found at position %d#Wn'",
ch, result );
else
printf( "Result: ~ %c not foundwn" );
// Search backward.
pdest = strrchr( string, ch );
result = (int)(pdest — string + 1);
if ( pdest I= NULL )
printf( "Result:  last %c found at position %dWn", ch, result );
else
printf( "Result:Wt%c not foundWn", ch );
}

String to be searched:
The quick brown dog jumps over the lazy fox
1 2 3 4 5
12345678901234567890123456789012345678901234567890

Search char: r
Result:  first r found at position 12
Result:  last r found at position 30

X2 stringll M Z&E 22X+ ¢ Ot /AXIE gHet
YHGHA RGHEH NULLS EHE)

—




strstr( )

el
o
]
uini
rz
i

= -
g

oll Ci e

#include <string.h>

h
el

40
0g

A
T

o A

gaay

char =strstr(const char #stri, const char *str2);

#include <string.h>
#include <stdio.h>
char str[] = "lazy";
char string[] = "The quick brown dog jumps over the lazy fox";
char fmti[] = " 1 2 3 4 5"
char fmt2[] = "12345678901234567890123456789012345678901234567890";
int main( void )
{
char *pdest;
int result;
printf( "String to be searched:Wn  %sWn', string );
printf( " %sWn  %sWnwn", fmt1, fmt2 );
pdest = strstr( string, str )s
result = (int)(pdest — string + 1);
if ( pdest I= NULL )
printf( "%s found at position %dwn", str, result );
else
printf( "%s not foundW#n", str );

Output
String to be searched:
The quick brown dog jumps over the lazy fox
1 2 3 4 5
12345678901234567890123456789012345678901234567890

lazy found at position 36

S str2dt 2AE st ZE 0 AJACHH 1 Al ZOHE
OFLI® NULLS gHet
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strtok( ) &= @ SENE0M E2S FE5H0 &

I #include <string.h>

i char =strtok(char *strToken, const char *strDelimit);

0
0!

A
T

#include <string.h>
#include <stdio.h>
char string[] = "A stringWtof ,,tokensWnand some more tokens';
char seps[] =" wWtwn"; // 22lXt : blank, comma, tab, new line &%
char *token;
int main( void )
{
printf( "Tokens:¥n" );
// Establish string and get the first token
token = strtok( string, seps );
while( token != NULL )
{

ANEWH

// While there are tokens in "string"
printf( " %sWn", token );

// Get next token:

token = strtok( NULL, seps );

Tokens:
A
string
of
AEA)} tokens
and
some
more
tokens

I
Q'E
2
rc
rtor
Qﬂ
f
HM
ru
ro
HI
ol
=
[
o
N
=4
=

S XS (strToken) 0l E2
ot =201 EM, ¢ 0l

> 10

I

0
A
-
S}
£
[0
e
=
c
—
—
&)
ujo
r
ro
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03. 2Nt 25 9L

I isalnum( ) &% : S2X0IHLE =XIRIXIS HA
o #include <ctype.h>
ek int isalnum(int ¢);
_ HEIHA~Z, a~z)0l HU =XH0~9)2I Xl ZAlot), HEX L= =X0|H
a4y o e
0 01219 2t(nonzero)E Etet
I isalpha( ) &2 : A2XRIXKE AA
SIH I #include <ctype.h>
g+ int isalpha(int c);
_ HAE2IHA~Z, a~2)IXIE ZASHD, YE2X01H 0 01212 3t(nonzero)S
ST
BHet (DX %2 0= 02 Btah)

1 isdigit( ) &= :

EOASUDN

U

S At

SlHI #include <ctype.h>
g 4 int isdigit(int c)
5ty ZXHO~9)RI K| ZAlGH, =XH0IZ 0 012/2f gt(nonzero)S EHet

I iscntrl( ) &= : X0

oll Gty

#include

_11_



int iscntrl(int ¢);

8t 4y RIOT 2XHO0x00~0x1F or Ox7F)IXIES 2IAL MO EXHcontrol character)
=T 012 0 01212 g(nonzero)s vtatslll, OLIY 02 BHet
I islower( ) &< : A2XQIXIZE HA
slcme #include <ctype.h>
rRE int islower(int c);
sty 22 XHa~z) QX %*A@Oi A2TH012 0 01212 gHnonzero)S BHetoL,
X &Zo9 02 utat
I isupper( ) &< : HEXXZE HAl
alme #include <ctype.h>
g3 int isupper(int c);
21 O CHE2XHA~Z)QI Kl ZASHH A2XH0IH 0 01212 2t(nonzero)S Btatetd
T=s O $o0 02 ehat
I isspace( ) &% : S ZXCIXIE HA
i #include <ctype.h>
42 int isspace(int c):
S8 201X ZAloe B8 2XH01% 0 01219 gnonzero)2 Btetol L,
Bad® TN YOD 02 BIE WS B, \t, ‘\n S92 0tAI| RS
(0x09 ~ 0x0D or 0x20)

_12_



#include <stdlib.h>

AE0H

double atof(const char =str);

str =" 3336402735171707160320 ";

value = atof( str );

printf( "Function: atof( W'%sW"' ) = %eWn", str, value );
str = "3.1412764583d210";

value = atof( str );

printf( "Function: atof( W'%sW" ) = %eWn', str, value );
str =" -2309.12E-15";

value = atof( str );

printf( "Function: atof( W'%sW' ) = %eWn", str, value );

Function: atof( " 3336402735171707160320 " ) = 3.336403e+021
Function: atof( "3.1412764583d210" ) = 3.141276e+210
Function: atof( " -2309.12E-15" ) = -2.309120e-012

A28 TIZ(double)2 H&t

1 atol( ) &= :

MNEE

O
£
ot

Sl I #include <stdlib.h>
S double atol(const char *str);
stady X & 2XEE longd A2 Bt

_13_



D AE E 2NES F4E Ma(in)z HE

#include <stdlib.h>

int atoi(const char *str);

str=" -2309 "
value = atoi( str );
printf( "Function: atoi( W'%sW"' ) = %dwn", str, value );
str = "31412764";
value = atoi( str )
printf( "Function: atoi( W'%sW"' ) = %dWn", str, value );
str = "3336402735171707160320";
value = atoi( str );
printf( "Function: atoi( W'%sW"' ) = %dWn", str, value );
if (errno == ERANGE)
{
printf("Overflow condition occurred.¥n");

}

Function: atoi( " -2309 ") = —2309

Function: atoi( "31412764" ) = 31412764

Function: atoi( "3336402735171707160320" ) = 2147483647
Overflow condition occurred.

X2 = SXLEE FxE N2(nt)2 Hetoln, Hete 29 ol U288
O HRAZ HOLIH ermo 201 ERANGEZ XI&. Z, ermmo 20l ERANGER}
2o QHEZ 2(Overflow) 24

#include <stdlib.h>

char *itoa(int value, char #str, int radix);

valueE radix2 AI&EE XES AME0IH 2AE=2 HE

_14_



ltoa( ) &% : long® HAE XA XH 2ol SALZ Hat

I #include <stdlib.h>

et char #ltoa(long value, char *str, int radix);

49 long® H==0l valueE radixZ XF&E JYS AZE5IH SNHE2 BE

tolower( ), toupper( ) :

Tt

HA2KRe H

fo

#include <stdlib.h>

= Lol
dlCiIre #include <ctype.h>
e int tolower(int c);
= int toupper(int c);
#include <string.h>
#include <ctype.h>
char msg[] = "Some of THESE letters are Capitals.";
char *p;
int main( void )
{
printf( "%sWn", msg );
/* Reverse case of message. */
for( p = msg; p < msg + strlen( msg ); p++ )
ol A q
if( islower( *p ) )
putchar( toupper( *p ) );
else if( isupper( *p ) )
putchar( tolower( *p ) ):
else
putchar( *p );
}
}
AT Some of THESE letters are Capitals.
SOME OF these LETTERS ARE cAPITALS.
tolower Ste= 2LIYIZ A2XZ2 BiS6L1, toupper S LIS UEX
g+4Yy <ctype.h> ol WS

_15_



rerence 05. mizal gy wa gn

I calloc() : K22l Y &Lt FA BHEt
A #include <stdlib.h>
= ol
sCme #include <malloce.h>
8428 void *calloc(size_t n, size_t size);
// This program uses calloc to allocate space for
// 40 long integers. It initializes each element to zero.
#include <stdio.h>
#include <malloc.h>
int main( void )
{
o A long *buffer;
buffer = (long *)calloc( 40, sizeof( long ) );
if( buffer 1= NULL )
printf( "Allocated 40 long integersWn" );
else
printf( "Can't allocate memory#Wn" );
free( buffer );
}
AA Allocated 40 long integers
i o4 Od 2 sl-d35 ol Ct =2 ==
B s AJ|D} size HIOIEQ! B2l EE nHE &Eol Y FAE BtstelD

Ol &2 HZ2elE 022 =13t &.

I malloc() : OIZ2I S2Q HQIE BHst

#include <stdlib.h>

=~ ol

SiCime #include <malloce.h>

e void *malloc(size_t size);
char =string;

o A string = malloc( 100 );

if( string == NULL )

_16_



printf( "Insufficient memory available¥n" );
else
{
printf( "Memory space allocated¥n" );
free( string );
printf( "Memory freedWn" ).

}
A Memory space allocated for path name
Memory freed
st a0 X_I’éj%l S|ze_(l:I+0|E ) DJ%L_IHIE'_EI EES _32*%8
(8 Jts8t M2t 25613 NULLS e

I free( ) : 2EE D22 S5 3l

#include <stdlib.h>

I .

G #include <malloce.h>

842 void free(void *memblock);

AL OLH string = malloc( 100 ); // OI22I E2 &%
< free( string ); /] H22l 3%

g+4dY memblockO| Ji2l2|10 U= HZ2el S5S Al

_17_



@ference 06. HIH I

memchr( ) : HIHOI Y= 2K

g S0A 22X

#include <string.h>

sleme
e void *memchr(void *str, int c, size_t n);
240 HIH stroll s niel SXNESE HASZ 21t ¢S ZM6lH XS ¢As
T R HOHS o
I memcmp() : & 2 HIHUA 2XS AS=2 HlwW
o #include <string.h>
g4 int memcmp(void *stri, void str2, size_t n);
g4y S OHel HIH str1dt str20lA ndHel X5 HALZ Hlw
I memcpy( ) : NIFE W22 2XE SA
SlH I #include <string.h>
etk void memcpy(void *str1, void *str2, size_t n)
g+4Yy nel X2 str2llA str1Z S A
I memmov() : X S0IA XNFE K029 2XE SAHHE 5E)
SIHI #include <string.h>

_18_
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void memmov(void *dest, void *src, size_t n);

h
4
nx
0%

HIH srcll Uz 2AE SOIA nIi2l SXHE destOll SA
(src2t destdt ZHE EA 512)

memset( ) : =& 2X2 HIHO NEE W2 S

I #include <string.h>

Ik void memset(void *buf, int ¢, size_t n);
44y ZFH& 2A cZ HIH buftl nJHE MS

_19_



@ference 07. HE =9 g

I getch() : JI2E2 BXE 2 &8 (3H0= LIEILIA %3)
slcime #include <conio.h>
oRE int getch(void);
sty IZEZRH 2XNE YHYIL, Echo JIS0l AN SO &

A0 201X 242

I getchar( ) :

JIEEZ BNE LAY

slcmr #include <stdio.h>

g int getchar(void);

oMY IIBEZRH BXNE LS
I getche() : II2E2 EXE YHBS (Echo JIS)

sicim #include <conio.h>

gr3g int getche(void);

g8y IBEZRH SXE S (YHL2 SNt 3 LIEHY)
I gets s() : IEER 2XES Qaers

slcme #include <stdio.h>

gr3g int *gets_s(char *buf);

g4y IBEZRH XS YHEes

_20_



printf( ) : MAISIE 22X

HEH Ol

o
ton
7]
e

I #include <stdio.h>

g3g int printf(format [argument, ...]1):
gaey NAlStEl 2XEe 31HH0 &
scanf_s( ) : JI2E=Z gls8 &4

s #include <stdio.h>

g4+ int scanf_s(char *format_str, args);
g4y NAIGIE 22 J|IEEZ2RH & g2
putchar( ) : X2 20| &

SIHI #include <stdio.h>

e int putchar(int c):

g4y SX cE 2 =

puts( ) : 2XHLES O =

sicime #include <stdio.h>

a2y int puts(char =str);

g4y S str2 st =%

_21_



@ference 08. m A==

GI'[I\_

I clearerr( ) : 2% XIAXE XS
sleor #include <stdio.h>
g4+ void clearerr(FILE *fpc);
g4y AE” fpcll 27 XAKE XS
I fclose( ) : E&! Mt |
sleme #include <stdio.h>
Ry int fclose(FILE *fpc);
St Ay focot Jteldl= el s &5
(AN 232 0, 28 LM EOFE e
I feof( ) : IS 2= HA
slcmr #include <stdio.h>
g4+ int feof(FILE *fpc);
st mo fpcot Ji2l= melel 28 AN
(RIAE YO0l EOFOIH, 0 01219 gts gl
I ferror( ) : @F LA At
ol #include <stdio.h>
et int ferror(FILE *fpc)s

_22_



fflush( ) : HIHE HIS

I #include <stdio.h>

g3g int fflush(FILE *fpc)s
siADy HIHS WHE2 fpc IHEH Y= HHE HIS
=T (B 282 0, 1 0/19/0l= EOFE et

fgetc( ) @ MILOIA & BXE 2403

I #include <stdio.h>

g3 int fgetc(FILE *fpc);
Aoy foc DL Z2H Ié* ZAE A3

(2F0IDILL I el 2012 EOFE EH)

Iy

foet( ) : XI&EE MAUNAM SXES 20 AM HE

Ho

o #include <stdio.h>

(e int fgets(char *str, int n, FILE *fpc);
A focot Jt2l9le THLOIA nHSl 2XHES 240 AM stroll HE
=S (2101 S0l S= EOF, WHMSI= n-12] 2K 20|, AlDH= NULL Bt

fopen( ) : Ot ZJ|

=

I #include <stdio.h>

g+ FILE *fopen(char *filename, char *mode)
8t a0y oY ZII0AM XIESE 2S(mode)2 IS E2
T

=
(83% ZRE FILEE A ZEQH, 2FJ 248 ZR= NULLS BH)
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forintf( ) : XFE MACZ MY =

I #include <stdio.h>

stA9lE int forintf(FILE *foc, char *format_string, args);
stad XNEE Maloz meg &%

fout( ) : 2N M0 =4

I #include <stdio.h>

g+ int fput(int ¢, FILE fpc);

5 2% cE It fpclil ==

FA

BrES  (mazus sus 209 4, 92s OFE ve

fputs( ) : BXNES M0 =

o #include <stdio.h>

g4y int fputs(char *str, FILE *fpc);
StA MO 2N stre fpc WU &

fread( ) : THLOIA XIZEH JH=Ct3 CIOIEIE 21013

I #include <stdio.h>

g+ size_t fread(char *buf, size_t m, size_t n);
g4y WLZL2E m*nIiel GIOIEE 4SS
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fseek( ) : Il ZOIH <X 0I5

I #include <stdio.h>

g4+ int fseek(FILE *fpc, long offset, int whence)

g4y S Y fpcll ZOIE fIXIE whenceWlAl offsetZ 0lS

ftell( ) : M ZOIES| &I AXl B

i

I #include <stdio.h>

e long ftell(FILE *fpc)s
_ I HOIE S| M /AXIE Btet
St A0y } 19| &M 2 )I

(2F 2ue -1g vs

pils

fwrite( ) : HHIHOI U= OIOIES XIE H==Lt2 Mol =

o #include <stdio.h>

g4 size_t fwrite(char *buf, size_t m, size_t n, FILE *fpc);
gaey HIHO Qe m*nIHSl GIOIEE fpc MM &

getc( ) : MUUA & JHe SXE S
I #include <stdio.h>

S int getc(FILE *fpc);

g+4Yy foc MHLONIA & JHS SXE AHS
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putc( ) : 22X & HE M =
I #include <stdio.h>

g3g int putc(int ¢, FILE *fpc)s
sg+4Yy otLIel Xt cE fpc WEH &=

rewind( ) @ It EOIHS X BN X2 0I5

I #include <stdio.h>

g+ void rewind(FILE *fpc)
g4y foc W HEOIES KXIE & Sl <

>

setbuf( ) : IHL0l M2 HIH XA

o #include <stdio.h>

oy void setbuf(FILE *fpc, char *buf)
s+4Yy foc T2 0l MZ2 buf HIHE XI&

_26_
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I chdir( ) : &2 Cl2iEHel |AXIe 2 Y

o #include <dir.h>

g4 int chdir(char *path);
a8y STl ClaE 2ol fIXIE =N path 22 #HE

I getcwd( ) : 8T = =0 (22| gHat

SlH I #include <dir.nh>

8428 char *getcwd(char *path, int numchars);
stady SN &Y Fo CI2E2|9 0188 gt

I mkdir( ) : CI2E2 M4

dicime #include <dir.h>

(e int mkdir(char *path);
g+4Y F0Z& EZ pathE AIE0l0d M2& CIEEZIE M4

I rmdir( ) : CIZiE2I AHl

dcme #include <dir.h>

842 int rmdir(char *path);
g+4Y FUH& BZ pathOll U= CIAEZIE &AM
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@ference 10. Nt 2A Hp

I tm =M =

struct tmset

{

int tmset_sec;

int tmset_|
int tmset_|
int tmset_|
int tmset_|

min;
hour;
mday;
mon;

int tmset_year;
int tmset_wday;
int tmset_wday;
int tmset_yday:
int tmset_isdst;

b
I asctime( ) : Al2tS EXZ 2 Bt&t
Sl #include <time.h>
g2 char *asctime(struct tmset *time)
a4y A tmset HAIO| AI2tS 2XLEZ BiS
I gtime() : SMTE XAl EOIHZ Bist
SlH I #include <time.h>
g+ struct tmset *gtime(time_history *timeptr)
g+4dYy GMT(Greenwich Meam Time)2 tmset 72AX EOIEZ Htat
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localtime(

) :local time2 XXM EQIHZ Bt

I #include <time.h>

g4+ struct tmset *localtime(time_history *time)
844y local time= tmset &AM ZEOIEZ HtHE
ftime( ) : 19704 0|F ZUE Al2+ Bt&t

s #include <time.h>

g+ time_history time(time_history *timeptr)
g+4dY 1970. 1. 1. 00:00:00= & SMIMA HUE Al2tS =2 EHAGHH BHet
clock( ) : ZDtE Al2t BHE

o #include <time.h>

e clock_history time(void)

gady K3EE HoE AlRIS Btet

ctime( ) : £Met AlZIS BHet

e #include <time.h>

g4+ char *ctime(any_time *timestmp)

g4 St AlIZIE 2XE 2 Bhat
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difftime( ) : AlI2HS] XH0IS =2 &t

I #include <time.h>

g4+ double difftime(time_history time1, time_history time2)

844y S A2 timeldh time2 AtOI2] AI2F RFOIE = |2 A6l Bhe
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